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Seventh Semester B.E. Degree Examin , Jan./feb.202l
Gontrol Engineelrihg

Time: 3 hrs. ffi='r.l't 
' 

Max. Marks: 100
Note: Answer FIVE fuU questions, selectingffiast TWO questions,from each parl
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What are the requtrements of an tde6t4entrol system'/ (06 Marks)

With a sketch, explain the workififfi6n automatic tank - lovol#oontrol system. (06 Marks)

Explain the characteristics of Q[\r*]ing controllers {...,.*"'r'

(i) Proportional plus integraffiifl'Proportional plus derivative. (08 Marks)

What are the requirements of an iide6teontrol system
ilii$o,f 6n automatic ti

?

Drive the Transfe, t nqlions of an armature controlffiD.C motor where output parameter is
the angle turned by thQ"iiffior shaft and input is theiilPblied voltage to armature circuit.
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.!! (10 Marks)
system shown in the Fig Q2(b). Where F(t) is

- voltage electrical analogous circuit.
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{c*)

'..=,.1= Fig Q3(a) (10 Marks)

Obtain the closed,, o'fl transfer function 5* a. the signal flow graph of a system shown in-=.',5 R(s)

Fig Q3(b) byusetdfMasori's gain formula.
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Obtain the transfer function for the r

the input and & Q$,tne output also o
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(16 Marks)

(08 Marks)

control system having Open loop transfer

(12 Marks)

(10 Marks)

(10 Marks)

" x.

4a.
b.
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(ro Marks)

(06 Marks)
Explain standard test signals- '

For frst order ryrr.rn riiftot.htio unit ramp input th|-w ihat the steady state error is equal to

time constant. .,=. 
- 
; ,'"''iii{=' (08 Marks)

i*.rilgnt. the stabiktft.,.,ii u closed,loop systbr- Yt-.g^ 
Routh Herwitz criterion whose

.fruiu.tliirtic eqrg*ion i, rt + 3sa + 7s3 + 20s] +.6s+ 15 = 0. (06 Marks)
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Sketch the polar plot for the Ot::*. 
. r ^ ,.. 

-

ctsl r{b = Gdl + q-J: 
Find the values "i#de and u1}.xi:., where the plot

intersect imaginary axis..,,,.:;,.- :r ',*,,, ' " (10 Marks)

Draw the Nyquist plot..&f..the open loop trarsfei finction 
',, 

o"'

1[
G(OH(O = 

u,*..,.,; 025.) 
. Ascertait#'l'hture of stab1|iffi=. (10 Marks)
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Write the advffiB[es of Bode plot',. .* Y - ..,,, ''i]] (04 Marks)

Draw theBode plotfor the Opgqa6-Wtransfer run.cf't9.$l'

c.

5a.

b.

margm

8 a. Explain the following fernl$ :

i) Controllability ii) Obodrvability.
b. Give suitable statg;a$iable representation for the system described by

4 * 3q + oQ + 7y(t),= /u(1;
dt' dt' dt
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